St James’ Primary School
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Skellatar Stock Route MUSWELLBROOK NSW 2333
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3G = MS CLEMENT
3/4M — MRS DENGATE
4G - MRS WATT

LEARNING FROM

HOME

MONDAY 30 AUGUST TO
FRIDAY 3 SEPTEMBER

NOTE - You are asked to do these worksheets in
conjunction with the SJM Home Learning site
(http://www.simhomelearning.weebly.com)
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Stage 2 Spelling Term 3 Week 8

N) /
ll If you have a word that endsin a single consonant vowel coming before it. DOUBLE the last letterwhen adding 'y’

St James’ Primary School
MUSWELLBROOK

Write out your list words

Copy the list word

Syllables
Signify the breakin
words with /

syl/lab/le

Vowels/Consonants
Use two colours to show
the vowels

vowels




Kakadu National Park

Location and Size
Kakadu National Park can be found 240 kilometres east of Darwin
in the Northern Territory, Australia. It is Australia’s largest national
park. Kakadu covers 20,000 square kilometres, which is half the size
of Switzerland and a third of the size of Tasmania. It is a special
place because of the plants and animals that can be found there.

s N
Plants

One of the strangest plants found in Kakadu is the Darwin
woollybutt. This is a common tree in the area which has dark
woolly bark on the lower half of the tree’s trunk and smooth white
bark on the upper trunk and branches. The Darwin woollybutt
tree is a calendar tree which means it told traditional Aboriginal
people which season it was. Different jobs needed to be done in
different seasons which is why this was important.

. Animals
> ) Many rare plants and animals can be found
in Kakadu. More than one third of Australia’s
birds and one quarter of Australia’s fish can
L be found there. Crocodiles, brolgas, quoll,
ot tree rats and bandicoots are just some of
\ the amazing animals that live in Kakadu.

Traditional Owners

The Aboriginal people are the traditional owners of Kakadu National
Park. It has been home to them for more than 50,000 years. The
Aboriginal people of Kakadu are called ‘Bininj" in the north of the
park and ‘Mungguy’ in the south. Some live in Kakadu's towns and
others live much further away in the park. The Australian land and
its original people have always been linked. Caring for the land and
its wildlife is important to Aboriginal people’s culture.

visit twinkl.com.au m
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Kakadu National Park

Questions

1. In which state or territory is Kakadu?

2. Why is Kakadu special?

3. What is the strangest plant found in Kakadu?

4 Describe this plant.

5. What does a 'calendar tree’ mean?

Draw this plant.



Key Words - Kakadu

National Park 20,000 square Switzerland Tasmania Darwin

kilometres woollybutt tree
dark woolly smooth bark calendar tree Aboriginal Traditional
bark people owners

which season it
was

Bininj

Mungguy

Caring for the
land and
wildlife




Date Name w
Chyracter Profile: Mutildy

Words and phrases to describe Draw a sketch of Matilda here
Matilda’s appearance:

Words and phrases to describe
Matilda’s personality:

Actions: What does Matilda DO in the story?

Change: How does Matilda change during the story?

www.twinkl.co.uk Copyright © Twinkl Lid







Times Tables

Learn these times tables by repeating them over and over, looking at them as you say
them. Also look for the patterns and use the times tables you know to help you with
those you don’t. Remember the 2x table helps with the 4x and 8x, and the 3x helps with
the 6x and 12x tables

1x table 2x table 3x table 4x table 5x table 6x table
L=t L= Libse 1x4=4 2x4=8 |1x5=5 2x5=10 1x6=6 2x6=12
2x1=2 2x2=4 2x3=6

3x4=12 3x5=15 3x6=18
3x1=3 3x2=6 3x3=9

4x4=16 4x5=20 4x6=24
4x1=4 4x2=8 4x3=12

5x4=20 5x5=25 5x6=30
5x1=5 5x2=10 5x3=15

6x4=24 6x5=30 6x6=36
6x1=6 6x2=12 6x3=18

7x4=28 7x5=35 7x6=42
7x1=7 7x2=14 7x3=21

8x4=32 8x5=40 8x6=48
8x1=8 8x2=16 8x3=24

9x4=36 9x5=45 9x6=54
9x1=9 9x2=18 9x3=27

10x4=40 10x5=50 10x6=60
10x1=10 |10x2=20 [10x3=30

11x4=44 11x5=55 11x6=66
PRESLLE L R EEE 12x5=60 12x6=72
12x1=12 |12x2=24 [12x3=36 B 3 h
7x table 8x table 9x table 10x table 11x table 12x table
1x7=7 1x8=8 1x9=9 1x10=10 1x11=11 1x12=12
2x7=14 2x8=16 2x9=18 2x10=20 2x11=22 2x12=24
3x7=21 3x8=24 3x9=27 3x10=30 3x11=33 3x12=36
4x7=28 4x8=32 4x9=36 4x10=40 4x11=44 4x12=48
5x7=35 5x8=40 5x9=45 5x10=50 5x11=55 5x12=60
6x7=42 6x8=48 6x9=54 6x10=60 6x11=66 6x12=72
7x7=49 7x8=56 7x9=63 7x10=70 7x11=77 7x12=84
8x7=56 8x8=64 8x9=72 8x10=80 8x11=88 8x12=96
9x7=63 9x8=72 9x9=81 9x10=90 9x11=99 9x12=108
10x7=70 |10x8=80 [10x9=90 10x10=100 |10x11=110 |10x12=120
11x7=77 |11x8=88 [11x9=99 11x10=110 11x11=121 11x12=132
12x7=84 |12x8=96 [12x9=108 [12x10=120 |12x11=132 [12x12=144




Name: @ Name: @

Date: E Date:

1) Ox /= 51) Ex =
2) bx /= 2 [x =
3) [x 1= :3 Ilx /=
9 Ix 7= x 7=
5) [ x = 5 T | =
6) Ly 7= . 6) 2x 1=
7) 3x /= i7) by /=
) S5x 7= | 8) bx /=
9) 12x = :% 2x =
10) I 1= slm Ox /=
11 8y 7= |11 0x /=
12) 2% 7= | 12) 5x 7=
13) 0x = Elb 3x /=
14) [x 0= - 14) [xb=
15) [x 8= :19 [x2=
16) Ix2= El@ Ixl=
17) Ixll= L 17) Ix 0=
18) 7x 2= - 18) 7x =
19) Txl= EW) Ix8=
20) Ix9= | 20) Tx b=
Time: Score: i Time: Score:
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7 Times Table Multiplication
Wheels
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Multiplication Grids

Multiplying 3-Digit Numbers by 1-Digit Numbers Using the Grid Method

515 x9 =

p ¢ 500 10 5

q

784 x 9 =

% | 700 80 4

958 x 8 =

% | 900 50 8

140 x 9 =

P4 100 40 0

441 x 7 =

x | 400 40 1

w Page 1of 4 visit twinkl.com
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Multiplication Grids

Multiplying 3-Digit Numbers by 1-Digit Numbers Using the Grid Method

6. 431 x8-=

% | 400 30 1

8

7. 254 x9 =

) ¢ 200 50 4

8 333x9-=

% | 300 30 3

9. 965 %6 =

% | 900 60 5

10. 856 x 6 =

% | 800 50 6

w Page 2 of 4 visit twinkl.com
D fu



Name:

Date:

7 x Colour Fun!

Find the answer to the multiplication number sentence
and then colour that section the corresponding colour.

14

21

28

white
black
red

orange

35| yellow

42| dark green

49| dark blue

56 | purple

@ teachstarter

63

pink

70

light blue

77

| light green

84

brown




7 Times Table Multiplication
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Multiplication Grids

Multiplying 3-Digit Numbers by 1-Digit Numbers Using the Grid Method

Calculate the answers using the grid method.

1. 493 x 3 = 21. 26 x 9 =
2. 538 x 4 = 22. 550 x 7 =
3. 105 x 9 = 23. a1 x 4 =
4. 103 x 5 = 24, 652 x 6 =
5. 292 x 3 = 25. 878 x 5 =
6. 651 x 3 = 26. 571 x 8 =
7. 184 x 7 = 27. 161 x 4 =
8. 848 x 9 = 28. 451 x 9 =
Q. 32 x 6 = 29. 586 x 6 =
10. 822 x 8 = 30. 481 x 8 =
11. 561 x 8 = 31. 808 x 7 =
12. 627 x 6 = 32. 684 x 6 =
13. 266 x 4 = 33. 242 x 5 =
14. Q79 x 5 = 34. 418 x 4 =
15. 688 x 8 = 35. 125 x 9 =
16. 632 x 4 = 36. 217 x 4 =
17. 172 x 3 = 37. 348 x 7 =
18. 815 x 4 = 38. 570 x 6 =
19. 523 x 7 = 39. 928 x 6 =
20. 76 x 5 = 40. 485 x 6 =

w Page 3 of 4 visit twinkl.com



4 Week 8 — Questions

Monday
188 +82=
245-9=
3.66+87=
L2x2=
53+h=_

b. Write these numbers in d&scanding order: 336, 1687,
LOLb, 6366, 2788, 506l.

JA Complmla this coumling PaHern:
7271 82, 81 , ,

8. What is the sum of 95 and 437

9. Share 48 apricots between 2 children.
10.$200 + $100 + 5 cents=

Il 50 cents + $200 + 20 cents =

12. If it was 5:02 in the afternoon, would you write am or
Pm?

13. 8 hours = minutes

Ile. What is the name of this 3D objml?

I5. Which star has the lowest chance of * ‘{:{*

bcing selected? Black or white? *
— Ky

@ MATHS MENTALS

Tucsday
L77-3=
278+7=
375+30=
LI0x3=
521+3=
b. 2457 is an even mumber. True or fabe?

1 Complch this coumling FaHorn:
5117, 23, , :

8. In a group of 58 students, 48 would ke fo play golf and
HI& V'&S'I' waml +0 F’y ﬁeld hOCkGy. HOW many wan+ 1('0 P’ﬂy
field hockey?

9 Divide 92 by 2
10.$200 + $1.00 + 50 cents=
Il. $200 + 5 cents + $200 =

12. How many hours from & am o 7 Pm?
13. What dighlal time does the clock show?

k. A squaro—bascd pyramid has

corners.

5. Which star has the highcsml chance of
bcing selected? Black or white?

@ teachstarter



GloiyliBe
Glory be to the Father,
and to the Son,
and to the Holy Spirit.

As it was in the beginning,

is now, and ever shall be,

world without end.
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Unit 2 Earth’'s Changing Surface Lesson 3 Nature’'s Power

e o Read and talk about the eBook Erosion.

o With your class, brainstorm natural landforms you know of in your area.
Examples could be a small gully, a river, or large sand dunes. Sketch and label

them below.

(andforms in our area

Year 3 / 4 Science Earth and Space Sciences © Inquisitive Pty Ltd.




Kakadu National Park

Location and Size
Kakadu National Park can be found 240 kilometres east of Darwin

in the Northern Territory, Australia. It is Australia’s largest national
park. Kakadu covers 20,000 square kilometres, which is half the size
of Switzerland and a third of the size of Tasmania. It is a special
place because of the plants and animals that can be found there.

PO =: x - —— = .- =
f""d' - \

Plants
One of the strangest plants found in Kakadu is the Darwin
~ woollybutt. This is a common tree in the area which has dark
woolly bark on the lower half of the tree’s trunk and smooth white
bark on the upper trunk and branches. The Darwin woollybutt
tree is a calendar tree which means it told traditional Aboriginal
people which season it was. Different jobs needed to be done in
different seasons which is why this was important.

F—mmmrree— =

_______ sy S ——

- Animals y
) Many rare plants and animals can be found
in Kakadu. More than one third of Australia’s
birds and one quarter of Australia’s fish can
be found there. Crocodiles, brolgas, quoll,
ak w tree rats and bandicoots are just some of
7 \ the amazing animals that live in Kakadu.

Traditional Owners
The Aboriginal people are the traditional owners of Kakadu National

Park. It has been home to them for more than 50,000 years. The
Aboriginal people of Kakadu are called ‘Bininj’ in the north of the
park and ‘Mungguy’ in the south. Some live in Kakadu's towns and
others live much further away in the park. The Australian land and
its original people have always been linked. Caring for the land and
its wildlife is important to Aboriginal people’s culture.

e e e e e e e e e e e e
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Kakudu Day 2 Comprehension.

6. Why did the Aboriginal people need to use this?

7. Which animals can be found in Kakadu?

8. Which two Aboriginal tribes live in Kakadu?

9. What is important to Aboriginal culture?

10. Using the information you have read, draw a picture of Kakadu,
including plants, animals and people.

(f_




Character Profile Bruce Bogtrotter

Words or phrases to describe
Draw a sketch of

Bruce Bogtrotter
here.

Bruce’s appearance.

Words or phrases to describe

Bruce’s Personality.

What does Bruce DO in the Story?







Times Tables

Learn these times tables by repeating them over and over, looking at them as you say
them. Also look for the patterns and use the times tables you know to help you with
those you don’t. Remember the 2x table helps with the 4x and 8x, and the 3x helps with

the 6x and 12x tables.
1x table 2x table 3x table 4x table 5x table 6x table
e lx2eg o= 1x4=4 2x4=8 [1x5=5 2x5=10 [1x6=6 2x6=12
2x1=2 2x2=4 2x3=6

3x4=12 3x5=15 3x6=18
3x1=3 3x2=6 3x3=9

4x4=16 4x5=20 4x6=24
4x1=4 4x2=8 4x3=12

5x4=20 5x5=25 5x6=30
5x1=5 5x2=10 5x3=15

6x4=24 6x5=30 6x6=36
6x1=6 6x2=12 6x3=18

7x4=28 7x5=35 7x6=42
7x1=7 7x2=14 7x3=21

8x4=32 8x5=40 8x6=48
8x1=8 8x2=16 8x3=24

9x4=36 9x5=45 9x6=54
9x1=9 9x2=18 9x3=27

10x4=40 10x5=50 10x6=60
10x1=10 [10x2=20 [10x3=30

11x4=44 11x5=55 11x6=66
11x1=11 [11x2=22 |11x3=33 19x4=48 12x5=60 12%6=72
12x1=12 [12x2=24 [12x3=36 - h A=
7x table |8xtable |9x table 10x table 1ixtable  |12xtable
1x7=7 1x8=8 1x9=9 1x10=10 1x11=11 1x12=12
2x7=14 2x8=16 2x9=18 2x10=20 2x11=22 2x12=24
3x7=21 3x8=24 3x9=27 3x10=30 3x11=33 3x12=36
4x7=28 4x8=32 4x9=36 4x10=40 4x11=44 4x12=48
5x7=35 5x8=40 5x9=45 5x10=50 5x11=55 5x12=60
6x7=42 6x8=48 6x9=54 6x10=60 6x11=66 6x12=72
7x7=49 7x8=56 7x9=63 7x10=70 7x11=77 7x12=84
8x7=56 8x8=64 8x9=72 8x10=80 8x11=88 8x12=96
9x7=63 9x8=72 9x9=81 9x10=90 9x11=99 9x12=108
10x7=70 [10x8=80 [10x9=90 10x10=100 [10x11=110 [10x12=120
11x7=77 |[11x8=88 [11x9=99 11x10=110 [11x11=121 [11x12=132
12x7=84 [12x8=96 |12x9=108 |[12x10=120 [12x11=132 [12x12=144




()

Name: : Name:

Date: i Date:

1 Ix Il = D Oxll=
2) by ll = 2 3xll=
3) [x Il = L 3) [2x 1l =
) 901l = i 8 ll=
5) 2x = ' 5) bxll =
6) 10 x Il = :6) S5xll=
” 8w Il = 7 [x Il =
8) byl = ) Txll=
9) 0xll= 9 M
10) 5y Il = 10 0kl
11) 3xll= 1) by Il =
12) 12 % || = | 12) [ x Il =
Tl 1 2xll-
14) Iy bk = " 14) IIx 8=
15) Iy 2= L 15) lx 12 =
16) Ix 7= i“) IIx 10 =
17) I x 3= 17 IIx 0=
18) v 0= i 18) Ilx /=
19) IIx 5= | 19) Ix 6=
20) |y 8 = . 20) Il x| =
Time: Score: i Time: Score:

(E) teachstarter
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11 Times Table Multiplication
Wheels
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42%x25=7

o Draw an array and break each number into a simpler multiplication.

40 2 X
20

o Multiply the numbers in the array together.

40. 2 X

2 x 20 = 40
40 x 5 = 200
10 |5 2x5=10

p

o Add all of the totals together to get the final answer.

800 + 200 + 40 + 10 = 1050

42 x 25 = 1050




65 x 47 =

b4 60

40

82 x 49 =

40

84 x 53 =

50

34 x93 =

Q0

38 x70 =

% | 30

70

Multiplication Grids

Multiplying 2-Digit Numbers by 2-Digit Numbers Using the Grid Method

Page 1of 4
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Multiplication Grids

Multiplying 2-Digit Numbers by 2-Digit Numbers Using the Grid Method

57 x 63 =

% | 50 7

60

11 x 66 =

60

13 x 96 =
X 10 3

Q0

18 x 96 =

%3 10 8

Q0

32x90 =

x| 30 2

Q0

w Page 2 of 4 visit twinkl.com w




Name:

Date:

11 x Colour Fun!

Find the answer to the multiplication number sentence
and then colour that section the corresponding colour.

-

11 x2

11x11
11x6

11x4

ot vV

@o
*®
>
>

@ 10x11
8)(11

11x11
l
11 | white 55] yellow 99| pink
22 | black 66 | dark green [110] light blue
(33) red 77) dark blue  (121) light green
(44 orange 88| purple 132] brown




11 Times Table Multiplication

121 /N5
1

(s

w
oW
AA

O

1

Wheels
88 b6
3 33/ 1
10 )
110\/% [ 5\¢132
132
121
9\110 110/ \
11 7 DS
c qQq
77 88
132 22
b6 110/\
1132
2N\ 44 88 9 33
132
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Fill In the Blanks

Holy shall beginning

Father without son

The Glory Be

Glory be to the ,

and to the ,

and to the Spirit.
As it was in the ,
S now,

and ever be,
world end.
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What is erosion?
Erosion is a natural
process. It changes the

Earth’s surface over time.

When rocks have been
weakened and broken
by weathering, the forces
of wind and water then
erode and move them

to other places. New

landforms are created.

& Inquisifivg Py Lid

Running water

Over thousands and millions of years, the force
of running water and gravity moves rocks and
sediment downwards, carving and cutting

through the landscape.




As the water runs,
sediment is carried
down by the river
and deposited to

make new landforms.

Moving ice
In cold, mountainous areas, falling snow hardens into solid ice creating a
glacier. Gravity slowly pulls these huge pieces of ice downwards. Glaciers melt

as they reach warmer air.




During very cold periods called
ice ages, most of the Earth was
covered in glaciers. The last

ice age ended 12 000 years ago.

As the ice melted, new landforms

were created.

a l?éf-éil'\rﬁyé: changing.
erode the beaches and cliffs.




As the sea erodes the land,
coastal landforms are created.




The wind shapes and carves amazing desert landforms.

fSand dunes|

@ Inguisilive Pty Ltd

Sudden erosion
When there are storms and floods, erosion of the land can happen suddenly

and dramatically.

Sand erosion

©Inquisitive Pty Ltd 11
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Sometimes, nature does its best to fight back against erosion!

—




Unit 2 Earth’'s Changing Surface Lesson 3 Nature’s Power

o We can describe how erosion
has caused different landforms
by using the Explanation
Game thinking routine. Look at
the example shown.

A narrow gap
by the river.

{ Alternate reason )

Give a reason

0 Choose two landforms

. Animals like wombats
from your class brainstorm.

could be digging and
eroding the dirt foo.

| think it was eroded
by rain water during

Use the explanation game to big storms.

describe how they were eroded.

Explanation Game

Give a reason

Alternate reason

Explanation Game

{ Alternate reason
Give d reason . D>

Year 3/ 4 Science Earth and Space Sciences © Inqguisitive Pty Ltd. 4
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Kakadu National Park

Location and Size
Kakadu National Park can be found 240 kilometres east of Darwin

in the Northern Territory, Australia. It is Australia’s largest national
park. Kakadu covers 20,000 square kilometres, which is half the size
of Switzerland and a third of the size of Tasmania. It is a special
place because of the plants and animals that can be found there.

\
Plants ;
One of the strangest plants found in Kakadu is the Darwin
woollybutt. This is a common tree in the area which has dark |
woolly bark on the lower half of the tree’s trunk and smooth white
bark on the upper trunk and branches. The Darwin woollybutt
tree is a calendar tree which means it told traditional Aboriginal
people which season it was. Different jobs needed to be done in
different seasons which is why this was important.

S e
b

. Animals

Many rare plants and animals can be found
in Kakadu. More than one third of Australia’s
birds and one quarter of Australia’s fish can
be found there. Crocodiles, brolgas, quoll,
tree rats and bandicoots are just some of

Traditional Owners
The Aboriginal people are the traditional owners of Kakadu National

Park. It has been home to them for more than 50,000 years. The
Aboriginal people of Kakadu are called ‘Bininj' in the north of the
park and ‘Mungguy’ in the south. Some live in Kakadu's towns and
others live much further away in the park. The Australian land and
its original people have always been linked. Caring for the land and
its wildlife is important to Aboriginal people’s culture.

e e — e e e — E —




Kakadu National Park

u5€ Hié WOI"dS in H)@ bOXéS b@/OW IlO COI’YJP/E*@ Hwe semlences dbObﬂl Ka/eadu.

crocodiles jobs Aborigines calendar plants
Kakadu animals seasons wollybutts live
[. Many rare and can be found in Kakadu.

2. live in Kakadu.

3. Brolgas live in

L. Quolls in Kakadu.

5. Darwin grow in Kakadu.

0. They are frees.

7. They tell the Aborigines when the are.

8. The do different in each season

Using the senfences aboue. draw a scenic picfure of Kakadu.

w visit twinkl.com.au v
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Character Profile: Lavender

Words or phrases to describe
Draw a sketch of

Lavender’s Appearance.
Lavender here.

Words or phrases to describe

Lavender’s personality.

What does Lavender DO in the Story?







Times Tables

Learn these times tables by repeating them over and over, looking at them as you say
them. Also look for the patterns and use the times tables you know to help you with
those you don’t. Remember the 2x table helps with the 4x and 8x, and the 3x helps with

the 6x and 12x tables.
1x table 2x table 3x table 4x table 5x table 6x table
=1 [Ax2=2 X323 4 9x4=8 [1x5=5 2x5=10 1x6=6 2x6=12
2x1=2 2x2=4 2x3=6

3x4=12 3x5=15 3x6=18
3x1=3 3x2=6 3x3=9

4x4=16 4x5=20 4x6=24
4x1=4 4x2=8 4x3=12

5x4=20 5x5=25 5x6=30
5x1=5 5x2=10 5x3=15

6x4=24 6x5=30 6x6=36
6x1=6 6x2=12 6x3=18 :

7x4=28 7x5=35 7x6=42
7x1=7 7x2=14 7x3=21

8x4=32 8x5=40 8x6=48
8x1=8 8x2=16 8x3=24

9x4=36 9x5=45 9x6=54
9x1=9 9x2=18 9x3=27

10x4=40 10x5=50 10x6=60
10x1=10 [10x2=20 |10x3=30

11x4=44 11x5=55 11x6=66
11x1=11 [11x2=22 |11x3=33 1 9x4=48 12%5=60 19%6=72
12x1=12 [12x2=24 [12x3=36 - F o
7x table 8x table 9x table 10x table 11x table  |12x table
1x7=7 1x8=8 1x9=9 1x10=10 1x11=11 1x12=12
2x7=14 2x8=16 2x9=18 2x10=20 2x11=22 2x12=24
3x7=21 3x8=24 3x9=27 3x10=30 3x11=33 3x12=36
4x7=28 4x8=32 4x9=36 4x10=40 4x11=44 4x12=48
5x7=35 5x8=40 5x9=45 5x10=50 5x11=55 5x12=60
6x7=42 6x8=48 6x9=54 6x10=60 6x11=66 6x12=72
7x7=49 7x8=56 7x9=63 7x10=70 7x11=77 7x12=84
8x7=56 8x8=64 8x9=72 8x10=80 8x11=88 8x12=96
Ox7=63 9x8=72 9x9=81 9x10=90 9x11=99 9x12=108
10x7=70 [10x8=80 [10x9=90 10x10=100 [10x11=110 [10x12=120
11x7=77 |11x8=88 [11x9=99 11x10=110 [11x11=121 |11x12=132
12x7=84 |12x8=96 [12x9=108 [12x10=120 ([12x11=132 |[12x12=144




Name | Name (2)
Date: : Date:

1) 3xl2= D Sxl2=
y 2xl2- 0k 2-
3) [2x12= L 3) 2x 2=
9 %12 = 4 8xl2=
5 %12 = ) by 12 =
6) 5x 2= - 6) I x 2=
0 0x 2= ) 7x12=
9 hul2- 5 9212 =
9 Ix12= 9 3x12=
10) bxll= . 10) b x [2=
11) 8 xl2= Em 2% 12 =
12) 7y 2= L 12) Oxl2=
3 10x[2= 1 [x 12 =
14) [2x 10 = ' 14) [2x 6=
15) 2% b= . 15) 2% 1=
16) 255 = 19 2x3=
17) 124 3= ' 17) I2x 8=
18) 2x0= | 18) 2x10=
o 2xl= 19 k=
20) [2x Il = ' 20) [2x5=
Time: Score: E Time: Score:

@ teachstarter




=T
g HNOD PUIM]

m
R
m

¢3JaY3 24D SY20]

7L €L | CYL| L7L |OYL| 6EL [ 8EL | LEL | 9EL | SEL (¥EL| EEL

CEL|LEL |OEL|6CL|8CL|LeL|9CL|S¢CL(»eL|€CL|CeL |zl

OCL|6LL (SLL(ZLL|[9LL|SLL(%7LL | ELL | ZLL | LLL [OLL|60L

(9 80L|LOL|90L|SOL (701 | EOL|2OL(LOL|OOL| 66 | 86 | L6

96 | S6 (%76 | €6 | C6 | 16 |06 | 68 |88 | L8 |98 | S8

(0 CL(LL(OL|69(89|L9|99|99|%9|€9 |29 |19

m 8 | €8 | C8 (18 |08 | 6L (8L | LL | 9L |SL | %L | EL

unpw MOH 09|65 |89 |LS5|95|95|%9|€9|25 |19 (0S| 6%

Q

8 (L7 (9% |S% |77 €% | T% | 17 | O% | 6E | 8E | LE

=21x6(f =ZIXS0O |og|se|we|ec|ze|1e|oe|6z|82| 22| 92] sz
=ZIxL (o —z1xg(q |wzl|ez|zz|iz|oz|et|sL|zL|ot|sL|u]et
HNHXOA._U HN._”X._NAU CL{LWL|OL] 6 8 L 9 ] Y € r4 L

:SI9MSUD 2s3aYy] JNo YAoMN ._u:m 243} Uil Jnojod pum SZT Ul juno)

S3171A1]9Y 2)qu] sawi] ZT




12 Times Table Multiplication
Wheels
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Multiplication Grids

Multiplying 2-Digit Numbers by 2-Digit Numbers Using the Grid Method

Calculate the answers using the grid method.

1.

10.
11.
12.
13.
14.
15.
16.
17.
18.
19.

20.

12

69

66

84

14

Q0

56

72

74

28

88

15

69

10

21

29

Q0

72

42

16

X

77

40

64

39

q3

q5

72

38

25

74

70

48

34

55

50

66

13

21

83

a3

21.

22.

23.

24,

25.

26.

27.

28.

29.

30.

31.

32.

33.

34.

35.

36.

37.

38.

39.

40.

38

61

34

16

19

31

18

32

77

43

82

10

qq

42

74

38

75

31

18

14

Q0

49

Q5

91

27

61

14

73

36

85

34

86

65

59

61

56

21

11

44

13
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Multiplication Grids

Multiplying 2-Digit Numbers by 1-Digit Numbers Using the Grid Method

Can you use the grid method to multiply a 2-digit number by a 1-digit number? The first one has

been done for you.

Calculate the answers using the grid method.

ll

10.

1.

12.

13.

14.

15.

16.

17.

18.

19.

20.

39

11

42

29

Q2

22

47

10

56

a3

53

72

81

1

30

94

16

79

74

24

X

4

4

21.

22.

23.

24,

25.

26.

27.

28.

29.

30.

31.

32.

33.

34.

35.

36.

37.

38.

34Q.

40.

77

50

62

28

39

63

73

85

52

27

64

85

70

96

77

19

28

57

39

44
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visit twinkl.com

Gl 1
| pprov
| W]

<>

ndas



Name: Date:

12 x Colour Fun!

Find the answer to the multiplication number sentence
and then colour that section the corresponding colour.

4 N

12 | white 60| yellow 108 pink

24 | black 72| dark green |120] light blue
36| red 84| dark blue [132] light green
48 ) orange 96| purple (144) brown

@ teachstarter



12 Times Table Multiplication

Wheels
1.
Q6 72
132 /5 36 /\2
{12 130 12}
f 120N\/7 [ 5\ 144
144
2.
48 132
9\120 120/\]
3 112 - (12 4
24 \ /¢ g 108
84 Q6
3.
144 24
31 79 120/85 ’
- 12 12
ql2 48 96 q 36
144

»
»
»
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( Week 8 — Questions

\

chncsday
163-2=
23+ 2=
335-8=-
L8x3=
570+10=
b. 5486 is an odd mumber. True or false?

/. Complmle this counﬁng pchrn:
60, bk, 68, 72, : :

8. 65 minus 22 oquals: ___
9, Diide 35 by 5.

(0.5 conts + $200 + 20 cants = ____
IL $100 + $200 +$200=

12. How many hours is 480 mintes?
13. How many days are in December? ____

"i- A sq,uan—bascd Pyramid has

corners.

I5. Which star has the lowest chance of
bcing selected? Black or white?

i [

@ MATHS MENTALS

Thursday
181-1=-
279+90-
3.80-b=_
bixd=
5I0<I0=
b. 602 is an cven number. True or fale?

/. Complc’rc this coum‘ing pchrn:
86, 9k, 102, 110, , ,

8. What is the sum of 63 and 287

T What is the product of 2 and 107 ____

0. 10 cents + 50 cents + 20 cents =
I $.00 + 20 cents + $200=

12. How many weeks is 35 Jays?
13. How many Jays is 96 hours?

k. A +rianglc—based Pyramid has
corners. /

5. Which circle has the highml chance of (] ..

bcing selected? Black or white? O... @®
@0

@ teachstarter



Kakadu National Park

Location and Size
Kakadu National Park can be found 240 kilometres east of Darwin
in the Northern Territory, Australia. It is Australia’s largest national
park. Kakadu covers 20,000 square kilometres, which is half the size
of Switzerland and a third of the size of Tasmania. It is a special
place because of the plants and animals that can be found there.

s = - i o —
5 Plants
| One of the strangest plants found in Kakadu is the Darwin ﬂ
woollybutt. This is a common tree in the area which has dark |
' woolly bark on the lower half of the tree’s trunk and smooth white |
| bark on the upper trunk and branches. The Darwin woollybutt |
tree is a calendar tree which means it told traditional Aboriginal |
people which season it was. Different jobs needed to be done in

different seasons which is why this was important.

A - Animals
> ) Many rare plants and animals can be found
in Kakadu. More than one third of Australia’s
birds and one quarter of Australia’s fish can
" be found there. Crocodiles, brolgas, quoll,
tree rats and bandicoots are just some of

Traditional Owners
The Aboriginal people are the traditional owners of Kakadu National

Park. It has been home to them for more than 50,000 years. The
Aboriginal people of Kakadu are called ‘Bininj’ in the north of the
park and ‘Mungguy’ in the south. Some live in Kakadu's towns and
others live much further away in the park. The Australian land and
its original people have always been linked. Caring for the land and
its wildlife is important to Aboriginal people’s culture.

e e P T e e Tt e - - = e e T S .
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Location and Size
Kakadu National Park can be found 240 kilometres east of Darwin

in the Northern Territory, Australia. It is Australia’s largest national
park. Kakadu covers 20,000 square kilometres, which is half the size
of Switzerland and a third of the size of Tasmania. It is a special
place because of the plants and animals that can be found there.

_

Uluru

Location
Ulurw is one of Australia’s most iconic landmarks. It is located

in the ‘Red Centre’ in the Northern Territory, Australia. Uluru is
located in the Uluru-Kata Tjuta National Park, in the middle of a
typical Australian desert landscape of red dirt, plants and animals.

Description

Uluru is one of the greatest rock formations in the world. It is 1.6km
high and 1.9km wide. It is almost as high as the Empire State Building! Uluru's total area
covers almost 33.3 square kilometres. Uluru is comprised of sandstone and its colour usually
appears dusty red but it can vary in colour with the ever-changing angle of the sunlight over
the course of a day. This aspect makes Uluru a popular tourist site at dusk. Although Uluru's
surface is covered in crevices, caves and valleys, it is straight and smooth enough for some
people to attempt to climb to the top. However, this is strongly discouraged.

Animals
This is an introduction about Kakadu National Park and Uluru that you have read.
Look at both passages:

Circle yesor nofor each question.

Do both passages state where these landforms are in Australia? Yes No
Do both passages state the size of these landforms? Yes No

Locate topic words which are in both passages (Highlight the common words)

Eg kilometres




What do the following words mean in the passages.

Surface

Comprised

Crevices

What information are both pieces of writing providing the reader.




Character Profile

Words or phrases to describe

appearance.

Words or phrases to describe

personality.

Draw a sketch of

here.

What does DO in the Story?







Times Tables

Learn these times tables by repeating them over and over, looking at them as you say
them. Also look for the patterns and use the times tables you know to help you with
those you don’t. Remember the 2x table helps with the 4x and 8x, and the 3x helps with

the 6x and 12x tables.

1x table 2x table 3x table 4x table 5x table 6x table
LAl = s 1x4=4 2x4=8 |1x5=5 2x5=10[1%6=6 2x6=12
2x1=2 2x2=4 2x3=6

3x4=12 3x5=15 3x6=18
3x1=3 3x2=6 3x3=9

4x4=16 4x5=20 4x6=24
4x1=4 4x2=8 4x3=12

5x4=20 5x5=25 5x6=30
5x1=5 5x2=10 5x3=15

6x4=24 6x5=30 6x6=36
6x1=6 6x2=12 6x3=18

7x4=28 7x5=35 7x6=42
7x1=7 7x2=14 7x3=21

8x4=32 8x5=40 8x6=48
8x1=8 8x2=16 8x3=24

9x4=36 9x5=45 9x6=54
9x1=9 9%x2=18 9x3=27

10x4=40 10x5=50 10x6=60
10x1=10 [10x2=20 |10x3=30

11x4=44 11x5=55 11x6=66
11x1=11 [11x2=22 |11x3=33 19x4=48 12x5=60 12%6=72
12x1=12 [12x2=24 |12x3=36 B P Ho
7x table 8x table Ox table 10x table 11x table 12x table
1x7=7 1x8=8 1x9=9 1x10=10 1x11=11 1x12=12
2x7=14 2x8=16 2x9=18 2x10=20 2x11=22 2x12=24
3x7=21 3x8=24 3x9=27 3x10=30 3x11=33 3x12=36
4x7=28 4x8=32 4x9=36 4x10=40 4x11=44 4x12=48
5x7=35 5x8=40 5x9=45 5x10=50 531 =55 5x12=60
6x7=42 6x8=48 6x9=54 6x10=60 6x11=66 6x12=72
7x7=49 7x8=56 7x9=63 7x10=70 7x11=77 7x12=84
8x7=56 8x8=64 8x9=72 8x10=80 8x11=88 8x12=96
9x7=63 9x8=72 9x9=81 9x10=90 9x11=99 9x12=108
10x7=70 [10x8=80 |10x9=90 10x10=100 [10x11=110 ([10x12=120
11x7=77 [11x8=88 [11x9=99 11x10=110 |11x11=121 |[11x12=132
12x7=84 [12x8=96 [12x9=108 |12x10=120 |12x11=132 |12x12=144




Name: | Name

Date: E Date:

) bxl2= D [x 12 =
2) bxll = 2 Il x 2=
3) Ixll= ) Ixl2=
) 8xll = H o 8xl2-
5) 0x 2= 5) 5x12=
6) 2xl2= :6) 2xl2=
7 S ll = 7 7x 1l
5 Ix 12 = ' e
9) 3xl2= 9) I0x 2=
10) Oyxll = i 10) Ix12=
1) 9, 1l = -1 bxll=
12) 12 %2 = 1) 3xll=
B Tel2-= 1y 8l =
14) I%12= - 14) 0x Il =
15) llx Il = | 15) by 2=
o 2xll- 19 Sxll=
17) 2xll= 17 bxll =
18) Ly || = 518) | x Il =
19) 7yl = | 19) 2x Il =
20) |y | = " 20) 12 x Il =
Time: Score: E Time: Score:

(N teachstarter
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HolyfRosary

mysteries annunciation temple
sorrowful garden pillar
Cross resurrection ascension
Holy Spirit assumption luminous
baptism Cana proclamation

transfiguration Eucharist
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Kakadu National Park

Location and Size
Kakadu National Park can be found 240 kilometres east of Darwin

in the Northern Territory, Australia. It is Australia’s largest national
park. Kakadu covers 20,000 square kilometres, which is half the size
of Switzerland and a third of the size of Tasmania. It is a special
place because of the plants and animals that can be found there.

.'-r o - 1{2'».
Plants E
One of the strangest plants found in Kakadu is the Darwin E

 woollybutt. This is a common tree in the area which has dark :;

woolly bark on the lower half of the tree’s trunk and smooth white ]

~ bark on the upper trunk and branches. The Darwin woollybutt f

" treeis a calendar tree which means it told traditional Aboriginal |

people which season it was. Different jobs needed to be done in

different seasons which is why this was important.

- Animals
> ) Many rare plants and animals can be found
t. in Kakadu. Morethan one third of Australia’s
birds and one quarter of Australia’s fish can
be found there. Crocodiles, brolgas, quoll,
> tree rats and bandicoots are just some of

Traditional Owners
The Aboriginal people are the traditional owners of Kakadu National

Park. It has been home to them for more than 50,000 years. The
Aboriginal people of Kakadu are called ‘Bininj’ in the north of the
park and ‘Mungguy’ in the south. Some live in Kakadu's towns and
others live much further away in the park. The Australian land and
its original people have always been linked. Caring for the land and
its wildlife is important to Aboriginal people’s culture.

. et e o T S
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Plants

One of the strangest plants found in Kakadu is the Darwin
woollybutt. This is a common tree in the area which has dark
woolly bark on the lower half of the tree’s trunk and smooth white
bark on the upper trunk and branches. The Darwin woollybutt
tree is a calendar tree which means it told traditional Aboriginal
people which season it was. Different jobs needed to be done in

different seasons which is why this was important. '

Culture

Bininj/Mungguy use the Darwin woollybutt as a seasonal indicator. In Yekke (May—
June) the tree produces spectacular orange flowers. These tell people that it’s time to
start lighting fires to clean up the country and prevent wildfires later in the dry
season.

The timber from these sturdy trees is used for firewood, building materials and
making didgeridoos. Bininj/Mungguy also eat the seeds and brew an infusion from
the inner bark to treat diarrhoea.
https://parksaustralia.gov.au/kakadu/discover/nature/plants/darwin-woollybutt/

How do the traditional Aboriginal people use the Darwin Woollybutt tree?

What colour are the flowers on the Darwin Woollybutt tree from May to June?

Why do the traditional Aboriginal people burn the area at this time?




Character Profile

Words or phrases to describe

appearance.

Words or phrases to describe

personality.

Draw a sketch of

here.

What does DO in the Story?







Times Tables

Learn these times tables by repeating them over and over, looking at them as you say
them. Also look for the patterns and use the times tables you know to help you with
those you don’t. Remember the 2x table helps with the 4x and 8x, and the 3x helps with

the 6x and 12x tables.

1x table 2x table 3x table 4x table 5x table 6x table
Ld=1 [Ax2=2  Ax3%3 1.4 9x4=8 |1x5=5 2x5=10 1x6=6 2x6=12
2x1=2 2x2=4 2x3=6

3x4=12 3x5=15 3x6=18
3x1=3 3x2=6 3x3=9

4x4=16 4x5=20 4x6=24
4x1=4 4x2=8 4x3=12

5x4=20 5x5=25 5x6=30
5x1=5 5x2=10 5x3=15

6x4=24 6x5=30 6x6=36
6x1=6 6x2=12 6x3=18

7x4=28 7x5=35 7x6=42
7x1=7 7x2=14 7x3=21

8x4=32 8x5=40 8x6=48
8x1=8 8x2=16 8x3=24

9x4=36 9x5=45 9x6=54
9x1=9 9x2=18 9x3=27

10x4=40 10x5=50 10x6=60
10x1=10 [10x2=20 [10x3=30

11x4=44 11x5=55 11x6=66
11x1=11 [11x2=22 [11x3=33 19x4=48 19x5=60 19%6=72
12x1=12 [12x2=24 |12x3=36 - & il
7x table [8xtable [9xtable 10x table 11x table 12x table
1x7=7 1x8=8 1x9=9 1x10=10 1x11=11 1x12=12
2x7=14 2x8=16 2x9=18 2x10=20 2x11=22 2x12=24
3x7=21 3x8=24 3x9=27 3x10=30 3x11=33 3x12=36
4x7=28 4x8=32 4x9=36 4x10=40 4x11=44 4x12=48
5x7=35 5x8=40 5x9=45 5x10=50 5x11=55 5x12=60
6x7=42 6x8=48 6x9=54 6x10=60 6x11=66 6x12=72
7x7=49 7x8=56 7x9=63 7x10=70 7x11=77 7x12=84
8x7=56 8x8=64 8x9=72 8x10=80 8x11=88 8x12=96
9x7=63 9x8=72 9x9=81 9x10=90 9x11=99 9x12=108
10x7=70 [10x8=80 [10x9=90 10x10=100 [10x11=110 [10x12=120
11x7=77 |11x8=88 [11x9=99 11x10=110 |11x11=121 [11x12=132
12x7=84 |12x8=96 [12x9=108 |12x10=120 [12x11=132 |12x12=144




[ 0
Date: 'l Date:

) bxl?= D S5xl2=
y 8ul2- ) 2=
3) Il x Il = ) 2xll=
» 5yl = 4 2x12=
5) 2yl = 55) 3xll=
6) Oxll= ) S5xll=
0 2% 12 = ) 10 x Il =
5 9% 12 = g I ll=
9) 10 x 12 = L9 2xl2=
10) Ly 17 = i 10) 0x 2=
11) | x 2= Ry bxl2=
12) 3y ll= L 12) Oxl2=
13) byll = - 13) [x Il =
14) Oy l?2= E 14) [x12=
15) I x12= L 19) Ix 2=
16) 74l = E 16) Ly 7=
17) 9, Il = 1) Il x 12 =
18) 2x12= , 18) Txll =
DR 19 3xl2=
20) 10 x || = ' 20) Oxll=
Time: Score: 3 Time: Score:
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Ultimate Times Table Challenge 1

Name: Number Correct:

Time: Previous Score: Q?JC"E’: ® )8
1x1-= 11 x12 = 10 x 12 = 3x5-= 1x9-= 7x1-=
1x5= 1x2-= 2x5-= 4 x 1= 2x9-= 4 x5 =
3x1= 3x3= 9x12-= 3x7= 6 x1-= 3x11-=
1x4= 4 x 3 = 1x3-= 11 x7 = 4 x 9 = 3x9=
5x1-= 8§ x9 = 5x5 = 8 x12 = 2x7 = 5x11-=
10x 3 = 6 x3= 1x11-= 2x11-= 11 x 11 = 1x7-=
5x3= 9x7= 7x5-= 7x7= 7 %9 = 10 x 5 =
8§x1-= 10x1-= 5x7= 6 x5-= 3x8= 8§ x11 =
9 x1-= 9 x3 = 3x10 = 9x9 = 4 x 7 = 8§ x7-=
11 x9 = 6 x8 = 6 x11 = 10 x 7 = 10 x 9 = 10 x 11 =
11 x1-= 11 x3 = 11 x5-= 2x3= 4 x 11 = 8 x5 =
12 x5 = 12 x 12 = 5x4 = 12 x7 = 12 x9 = 12 x 11 =
2x1-= 8§ x3= 6 x7= 1x12 = 1x10-= 7x3-=
2x2-= 9x11-= 2x6-= 2x8= 2x12 = 7%x6=
11 x4 = 3 x4 = 5x9-= 12 x 2 = 2x4= 1x6-=
4x2 = 4 x 4 = 4x 6= 6x9 = 4 x 10 = 9x5=
5x2= 10 x 2 = 12 x1-= 5x8-= 3xb6=" 7x11 =
7 x4 = 6 x4 = 6 x6 = 12 x3 = 6 x2-= 8 x 4 =
7x2= 9 x2-= 2x10-~= 5x%x10-= 1x8= 5x6=
7x%x8 = 6 x 10 = 12 x 10 = 12 x 4 = 8 x 10 = 8§ x2-=
10 x 4 = 9 x4 = 3x12 = 9 x8= 12 x 8 = 8 x 6=
11 x 6 = 9 x6= 10 x 6 = 3x2-= 4 x 12 = 9 x10 =
11 x 2= 6 x12 = 5x12 = 11 x8 = 11 x 10 = 8 x 8=
7x12 = 10 x 10 = 12 x 6 = 7 %10 = 4 x 8 =

Lvinig
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Ultimate Times Table Challenge 2

Name: Number Correct:

Time: Previous Score:

2 x4 = 4 x 10 = 12 x 12 = 11 x7-= 7x%x3= 12 x 4 =
3x1-= 6 x4 = 6 x5= 5x6= 8§ x9 = 8§x3=

5x2-= 3x7-= 4 x11 = 5x8= 5x4= 12 x 10 =
4 x 4 = 8 x11 = 6x8= 9 x4 = 12 x 11 = 4 x 4 =

10x 6 = 7x5= 9 x10 = 1x8-= 3x6= 9x2-=

2 x4 = 2x9= 2x6= 12 x 6 = 8 x 6= 6 x5=

8 x 2= 8 x 10 = 7x7-= 7x9-= 3x9= 9 x 4 =

5x3= 6 x2= 8x1-= 3x10= 4 x 6 = 2x7-=

10x3 = 4 x5 = 9 x9-= 9x6-= 7x7= 8 x5 =

12 x1-= 12 x6 = 12 x3 = 3x4= 12 x12 = 3x4=

3x6-= 3x3= 10 x 12 = 8 x8 = 6 x3= 6x6-=

11 x 4 = 8 x4 = 8 x7= 2x7= 8x7-= 11 x9 =
7x2-= 4 x 4 = 3x10-= 12 x 11 = 4 x 10 = 4 x 7 =

8§x3= 10x 7 = 5x8-= 5x5-= 8 x2-= 9x3-=

4 x5 = 5x5= 2x2-= 2x8= 7 x4 = 5x5=

11 x 9 = 11 x3 = 9x5-= 8§ x3= 9x5-= 7x%x3=

4 x 3 = 9 x4 = 3 x4 = 11 x 7= 12 x 6 = 6 x4 =

9x2= 7x1-= 8 x 4 = 3x6-= 3x3= 12 x2 =
5x10= 6 x11 = 5x9-= 11 x 8 = 8x6-= 9 x5 =

3x2= 6 x6~= 12 x 4 = 12 x 12 = 5x12-= 7x7-=

7x%x3= 10 x 5 = 5x2= 5x3= 4 x 3 = 12 x 8 =
8 x5= 6 x3= 9x1= 2x6-= 7x6~= 3x8=

11 x2-= 9x3= 2x7= 9x3= 11 x6 = 5x3-=

5x12= 10x 10 = 12 x7 = 8 x2= 8 x4 = 12 x 12 =

visit twinkl.com




